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ZU/W1/7/EXM/6
                                                        UNIVERSITY EXAMINATION 2016/ 2017
ORDINARY  EXAMINATION FOR THE BACHELOR OF BUSINESS  ADMINISTRATION AND MANAGEMENT AND BARCHELOR OF BUSINESS INFORMATION TECHNOLOGY.

ACCT 102 :  FINANCIAL ACCOUNTING II.

Date:   
AUGUST   2017                                                                                                Time: 2 Hours                                                                                                      

INSTRUCTIONS: Answer questions ONE and any other TWO questions.

QUESTION ONE
a) Explain the following terms:

i) Share premium  

                                                        (3marks)

ii) Rights issue  

                                                         (3marks)

(b) Masaba Company Ltd. is a retail provider with an authorised share capital of
      800,000 Sh.20 ordinary shares and 250,000 8% Sh.20 redeemable preference shares. 
The following financial information reflects the position of the company as at 31 December 2001 after preparing the Trading, profit and loss account:

	
	Sh.

	
	`000'

	Provision for depreciation    Fittings
	1,500,

	                                Motor vehicles
	3,740

	Goodwill
	1,200

	Issued share capital: 600,000 Sh.20 Ordinary shares
	12,000

	                                250,000 Sh.20 Redeemable preference shares
	5,000

	Share premium account
	400

	Trade debtors and prepayments
	1,708

	Land and buildings at valuation (Cost Sh.4, 400,000)
	18,400

	Capital redemption reserve fund
	3,000

	Fittings at cost
	3,000

	Motor vehicles at cost
	7,940

	10`% Debentures
	1,600

	Trade creditors and accruals
	960

	Short-term investments (Market value Sh.860,000)
	7 8 0

	Stock at 31 December 2001
	2,960

	Bank overdraft
	540

	Revaluation reserve
	1,000

	Net profit for the year
	1,440

	Retained profit at 1 January 2001
	4,460

	General Reserve
	1,100

	Provision for doubtful debts
	48

	Interim dividend paid – Ordinary
	600

	                                - Preference
	200


The following resolutions relating to year ended 31 December 2001 have been passed by the board of directors of the company

1.    Transfer Sh.500,000 to General Reserve.

2.     Provide for 5% final dividend and final preference dividend on shares issued and 

       outstanding on 31 December 2001. 

3.      Make a bonus issue of 100,000 fully paid ordinary shares from the retained profits  

       account.

Required:

(i) The appropriations account of Masaba Company Ltd. for the year ended 31 December 2001.                                                                                         (10 marks)

(ii)  The balance sheet of Masaba Company Ltd. as at 31 December 2001.          (14marks) 

QUESTION TWO

Distinguish the following terms:

(a) Purchased goodwill and non-purchased goodwill                                              (1marks)

(b) Amortization and depreciation of fixed assets                                                      (1marks)

(c) Provisions and reserves.                                                                                         (1marks)

b) The summarized financial statements of Baraka Enterprises Ltd. are as follows:

	Income statement for the year ended 30 September

	
	2003
	2004

	
	Sh.’000
	Sh.’000

	Sales
	20,000
	28,000

	Cost of sales
	(15,000)
	(21,000)

	Gross profit
	5,000
	7,000

	Administrative expenses
	(3,800)
	(4,600)

	Debenture interest
	  
	_(400)

	Net profit
	1,200
	2,000


	Balance sheet as at 30 September

	
	2003
	2004

	
	Sh.’000
	Sh.’000

	Assets:
	
	

	Non-current assets (net book value)
	11,000
	14,000

	Current assets:
	
	

	Inventories
	2,000
	3,000

	Trade and other receivables
	2,500
	2,800

	Balance at bank
	___-
	_500

	
	4,500
	6,300

	Total assets
	15,500
	20,300

	Equity and liabilities:
	
	

	Capital and reserves:
	
	

	Issued and fully paid
	
	

	1,000,000 ordinary shares of Sh.10 each
	10,000
	10,000

	Revenue reserves
	_3,000
	_4,100

	
	13,000
	14,100

	Non current liabilities
	
	

	8% debentures
	____-
	5,000

	Current liabilities
	
	

	Trade and other payables
	1,500
	1,200

	Bank overdraft
	_1,000
	____-

	
	_2,500
	_1,200

	Total equity and liabilities
	15,500
	20,300


Stock as at 1 October 2002 was Sh.5,000,000

Required:

(a)For each year, calculate the following:

i) Gross profit margin                                                                                          (2 marks)

ii) Inventory turnover                                                                                            (2 marks)

iii) Return on equity                                                                                               (2 marks)

iv) Return on assets                                                                                                (2 marks)

v) Acid test ratio                                                                                                   (2 marks)

vi) Current ratio                                                                                                     (2 marks)

vii) Financial leverage                                                                                              (2 marks)

(b)Comment on the liquidity position of the company giving  possible reasons for the change.

                                                                                                                                (3 marks)

                                                                                                                 (Total: 20 marks)
QUESTION THREE

a) explain five characteristics of a partnership.                           ( 5 marks)
b) Amis, Lodge and Pym were in partnership sharing profits and losses in the ratio 5:3:2.  The following trial balance has been extracted from their books of accounts as at 31 March 19-8:






 
  £                          £



Bank interest received




       



Capital accounts (as at 1 April 19-7):








Amis





  80,000




Lodge





  15,000




Pym





    5,000



Carriage inwards


    4,000



Carriage outwards


  12,000



Cash at bank


    4,900



Current accounts:




Amis



    1,000




Lodge



       500




Pym



       400



Discount allowed


  10,000



Discount received




    4,530



Drawings:




Amis



  25,000




Lodge



  22,000




Pym



  15,000



Motor vehicles:


 80,000




Accumulated depreciation (at 1 April 19-7)


  20,000



Office expenses


  30,400



Plant and machinery:




At cost



100,000




Accumulated depreciation (at 1 April 19-7)


  36,000



Provision for bad and doubtful debts




(at 1 April 19-7)




       420



Purchases



225,000



Rent, rates, heat and light

    8,800



Sales





404,500




Stock (at 1 April 19-7)

  30,000



Trade creditors




  16,500



Trade debtors


  14,300






                           £583,300              £583,300
Additional information:

1. Stock at 31 arch 19-8 was valued at   £35,000.

2. Depreciation on the fixed assets is to be charged as follows:

a. Motor vehicles – 25% on the reduced balance

b. Plant and machinery – 25% on the original cost.      


There were no purchases or sales of fixed assets during the year to 31 March 19-8.

3. The provision for bad and doubtful debts is to be maintained at a level equivalent to 5% of the total trade debtors as at 31 March 19-8.

4. An office expense of   £405 was owing at 31 March 19-8, and some rent amounting to £1,5000 had been paid in advance as at that date.  These items had not been included in the list of balances shown in the trial balance.

5. Interest on drawings and on the debit balance on each partner’s current account is to be charged as follows:

              



£




Amis

1,000




Lodge

   900




Pym

   720

6. According to the partnership agreement, Pym is allowed a salary of  £13,000 per annum.  This amount was owing to Pym for the year to 31 March 19-8, and needs to be accounted for.

7. The partnership agreement also allows each partner interest on his capital account at a rate of 10% per annum.  There were no movements on the respective partners’ capital accounts during the year to 31 March 19-8, and the interest had not been credited to them as at that date.

Required i)Prepare the Partners trading, profit and loss account for the year ended 31 March 19-8                                                                                                              (7 marks)
 ii)The partners current accounts and a balance sheet as at 31 March 19-8        (8 marks)         

                                                                                                                                                                                                                                                                                   (Total: 20 marks)    
QUESTION FOUR

(a Explain any three distinguishing features between 

(i) 
A receipts and payments account and 

(ii)
Income and expenditure account.
                                                     (6 marks)
(b)The accountant of Mamba Sports Club has extracted the following information from the books of account for the year ended 31 March 2001:

	Receipts
	Sh.
	Payments
	Sh.

	Balance brought forward
	288,000
	Salaries and wages
	254,000

	Subscriptions:
	
	New equipment
	565,000

	         Year   1999/2000
	   249,000
	Repairs and maintenance
	124,000

	                  2000/2001
	2,050,000
	Office expenses
	415,000

	                  2001 /2002
          
	  194,000
	Printing and stationery           
	168,000

	Dinner dance
	  723,000
	Purchase of beverages
	497,000

	Beverage sales
                          
	  657,000
	Dinner dance expenses
	315, 000

	Investments income
	  400,000
	Refund of subscriptions          
	45,000

	
	
	Sports prizes
	25.000

	
	
	Transport
	248,000

	
	
	Investments
	1,500,000

	
	​_______
	Balance carried forward                      
	405,000

	
	4,561,000
	
	4, 561,000

	
	
	
	

	
	
	
	

	Balances as at
	31 March 2000
	31 March 2001

	
	       Sh.
	         Sh.

	Furniture and fittings (net) 
	240,000                                
	           -

	Equipment (net)
	690,000                                
	           -

	Investments at cost 
	3,500,000                                 
	            -

	Subscriptions in arrears 
	300,000                         
	375,000

	Salaries accrued 
	68,000                            
	72,000

	Stock of beverages 
	162,000                           
	184,000

	Subscriptions in advance
	85,000                                   
	-

	
	
	


Additional information:

1.
Subscriptions in arrears are written-off after twelve months.

 2.
 Depreciation is provided for on reducing balance method at 10% and 20% per annum on furniture and fittings and equipment   respectively.

3.           Investments, which had cost Sh.500, 000 were sold on 30 March 2001 for Sh.625, 000. No entries have been made in the books in this respect.

Required:

(a)
Income and expenditure account for the year ended 31 March 2001.       (8 marks)

(b)
Balance sheet as at 31 March 2001.                                                            (6 marks)

                                                                                                                   (Total: 20 marks)

QUESTION FIVE

The following balances have been extracted from the books of Limuru Manufacturers, a small scale manufacturing enterprise, as at 31 December 2002:

	
	
	Sh.

	
	
	‘000’

	Stocks as at 1 January 2002:
	Raw materials
	7,000

	
	Work in progress
	5,000

	
	Finished goods
	6,900

	Purchases of raw materials
	
	38,000

	Direct labour
	
	28,000

	Factory overheads:
	Variable
	16,000

	
	Fixed
	9,000

	Administrative expenses:
	Rent and rates
	19,000

	
	Lighting
	6,000

	
	Stationery and postage
	2,000

	
	Staff salaries
	19,380

	Sales
	
	192,000

	Plant and machinery:
	At cost
	30,000

	
	Provision for depreciation
	12,000

	Motor vehicles (for sales deliveries):
	At cost
	16,000

	
	Provision for depreciation
	4,000

	Creditors
	
	5,500

	Debtors
	
	28,000

	Drawings
	
	11,500

	Balance at bank
	
	16,600

	Capital at 1 January 2002
	
	48,000

	Provision for unrealized profit at 1 January 2002
	
	1,380

	Motor Vehicle running costs
	
	4,500


Additional information:

1.
Stocks at 31 December 2002 were as follows:

	
	Sh.

	
	‘000’

	Raw materials
	9,000

	Work in progress
	8,000

	Finished goods
	10,350


2.
The factory output is transferred to the trading account at factory cost plus 25% of factory profit.

3.
Depreciation is provided at the rates shown below on the original cost of fixed assets held at the end of each financial year.


Plant and machinery
-
10% per annum


Motor vehicles

-
25% per annum

4.
Amounts accrued at 31 December 2002 for direct labour amounted to Sh. 3,000,000 and rent and rates prepaid at 31 December 2002 amounted to Sh. 2,000,000.

Required:

(a)
Manufacturing, trading and profit and loss account for the year ended 31 December 2002.








(12 marks)

(b)
Balance sheet as at 31 December 2002.



(8 marks)










(Total: 20 marks)

